Denison Calzoni [ HiRESE 2 — 8

24 Bl
[y | | A [y | G
— v ¥
H
Y
O
w g gs
X
|
el
T
L G |F Al
Eof B 190 B 300 B 450 B 700 B 1100 B 1800 B 2800
MR 125/160/190 | 200/250/300 | 350/ 450 600 / 700 1100 1600 / 1800 | 2400 /2800
MRE 330 500 800 1400 2100 3100
MRD / MRV 300 450 700 1100 1800 2800
MRDE / MRVE 330 500 800 1400 2100 3100
15 i 1250 1800 2650 4000 6200 11400 17100
i B 870 1200 1450 2200 4200 6250 12000
Rk (bar) 28 28 27 27 27 30 30
oA 250 256 296 320 360 423 494
B 225 232 266 290 330 380 440
@Chs 160 175 190 220 250 290 335
OE (Ei/ Ee) 32/38 4248 46/ 54 52760 62/72 72182 82/92
F 14 15 15 15 20 21 24
G 22 25 27 28 26 28 30
H 35.5 46 56.5 62 72 79 99
[ 50 60 74 78 88 100 120
L 188 217 244 273 305 348 416
@X M12 M12 M12 M12 M12 M12 M12
Y 28 28 28 28 28 28 28
z 10.5 10.5 13.5 13.5 15 17.5 19
BV (X5) M10 x 35 M10 x 35 M12 x 40 M12 x 45 M14 x 50 M16 x 55 M18 x 60
o 22°30' 22°3(" 22°30" 22°30' 0° 22°3(" 0°
FIEl (kg)
AR 1 (x 2) Gl M16x 1.5 G %"
TR 1 (x 2) G
e R N E AL




Denison Calzoni [ HiRESE 2 — 8

SEE| Bl

protection

\'\ encoder

encoder drive flange

\ £

(2]

(=2}

]

61 L1 (see page 19)
gL (A 5m)
ey o L
* ﬁﬂﬁ%glﬂ ------------------ ELCIS 478 3] !__ male conn 313 4 female | male conn .- 3.3 4 fen
B B 8~ 24 VDC | @ Q connector A. | Q cor
OIL o J————— 120 mA max. |
==Y 7 10 mA max. | " ‘ ‘ PO l $ ; ‘ .
o [V (e, 100 kHz max. . | I 4.1 4 o '
o DEE 500 || K | | ‘ ; ‘ 2
o 7B ) 0 ~ +70°C , 30>-8 b 35152
o HFESTE o, IP67 L. ] L ]
B
(e LT I (8~24 VDC) BRI (1) Fﬂﬂ;@%}ﬁ# (70
2. FIE BAHE (RS 10mA-24 VDC) | o 45g:.......RSF3/0.5m o {AP: ... RSF4/0.5m
O O {7 (0 VDC) o .. RKT3-06 / 5m o L. RKT4-07 / 5m
4. B AL (B 10 mA - 24 VDC)
R A B g A R AR A FREAE R
C T Q
MB&S_LZX:_MM* 2x M8x45 (2x M8x50)* 2x M8x30 (2x M8x35)*
8 5 5
\ o \ .........
> S e N ST

2,8*0!

?s'-—

25,5(28.5)°
60,5 (63,5)"

7,5

-

26,5 (28,5)"

*: MR 160/ 190, MR 250 / 300, MRE 330, MRD 300, MRDE 330

._.1_8:_ 26,6 ﬂl.i]':___

40,5 (43.8)"




Denison Calzoni [ HiRESE 2 — 8

MR 160 | MR 350 | MR 1100 | MR 2400 | MR 3600
MR MR 190 | MR 450 | MRE 1400 | MR 2800 | MR 4500
MRE MR 200 | MRE 500 | MR 1600 | MRE 3100 | MRE 5400
g MR 250 | MR 600 | MR 1800 MR 6500
=Y MR 300 | MR 700 | MRE 2100 MR 7000
(ﬁﬂgﬁ%ugﬁﬁﬁ) MRE 330 | MRE 800 MRE 8200
VIRD MRD 300 | MRD 450 | MRD 1100 | MRD 2800 | MRD 4500
MRDE MRDE 330 | MRDE 500 | MRDE 1400 | MRDE 3100 | MRDE 5400
=31l MRD 700 | MRD 1800
T MRDE 800 | MRDE 2100
Calzoni B R
D G %" G1v" G1%" G1%" G2"
H 36 40 45 60 60
ﬁ;i 262098 262089 262093 264572 272724
fEalks i
HFOE
it 229394 229395 229396 229397 229398
SAE &
230 | 5000 psi| 5000 psi |4000 psi | 6000 psi | 3000 psi | 6000 psi|3000 psi |6000 psi
H 36 40 45 45 60 60 60 60
I 55 60 75 71 86 97.5 112 116
X 222 26.2 30.2 27.8 35.7 36.5 429 | 4445
Y 47.6 52.4 58.7 | 5715 | 69.8 79.4 778 | 96.82
D 19 25 31 25 37 37 50 50
,{g«lﬁ:ﬁ Z/T | M10x25 | M10x25 | M10x25 | M12x22 | M12x30 | M16x30 | M12x30 | M20x35
F{FuE| 277295 | 277297 | 277299 | 230166 | 277301 | 230168 | 277303 | 230170
D 19 25 31 25 37 37 50 50
E;jrg ZIT | %"16 | %"16 | 1ie"14 | 1e"14 | 14"13 - 1%"13 | %"-10
1=
F8F| 223335 | 223336 | 223337 | 342092 | 223338 - 223339 | 342547






